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Note: The question paper is divided into three sections A, B and C. 

Write Answers as per given instructions.

{ZX}e : ¶h àíZnÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| H$m CÎma Xr{OE&

 Section - A 10 × 1 = 10
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question 

delimit your answer in one word or one sentence or 

maximum upto 30 words. Each question carries 1 marks.

 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e : g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶, ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ  
1 A§H$mo H$m h¡&
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1) (i) What is standard hydrogen electrode?

  ‘mZH$ hmBS´>moOZ Bbo³Q´>m°S> ³¶m h¢?

	 (ii)	 Write	the	electronic	configuration	of	Cr	(24)	and	Cu	(29).

	 	 Cr	(24)	Ed§ Cu	(29)	H$m Bbo³Q´>m°{ZH$ {dÝ¶mg {b{IE&

 (iii) Metallic radii of Nb and Au are almost equal. Explain with 

reason.

  Nb Am¡a Au Ho$ ÚmpËdH$ {ÌÁ¶mAm| Ho$ ‘mZ bJ^J g‘mZ h¢& H$maU 
g{hV g‘PmBE&

 (iv) What is the difference between a double salt and a 

complex salt?

  {ÛH$ bdU VWm g§Hw$b bdU ‘| ³¶m AÝVa h¡?

 (v) Give hybridisation and shape of (Ni(CO)4)

  (Ni(CO)4) H$s AmH¥${V d g§H$aU ~VmBE&

 (vi) Write formulae of two double salts of ceric sulphate.

  gr[aH$ gë’o$Q> Ho$ Xmo {ÛH$ bdUm| Ho$ gyÌ {b{IE&

 (vii) What are transuranic elements?

  Q´>m§g¶yao{ZH$ VËd ³¶m h¡?

 (viii) Which of the following are Lewis acids: 

NiCl2, PCl3, NH4
+, PtCl2

  {ZåZ ‘| go H$m¡Z bwB©g Aåb h¢:
NiCl2, PCl3, NH4

+, PtCl2

 (ix) What do you mean by aprotic and antiprotic solvents?

  Eoàmo{Q>H$ VWm EoÊQ>ràmo{Q>H$ {dbm¶H$mo go ³¶m g‘PVo hm|?
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 (x) Explain with example a levelling solvent.

  g‘Am¶ZZ {dbm¶H$ H$mo CXmhaU g{hV g‘PmBE&

 Section - B 4 × 5 = 20
(Short Answer Questions)

Note: Answer any four questions. Each answer should not 
exceed 200 words. Each Question carries 5 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e : {H$Ýhr Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 200 

eãXmo ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 5 A§H$m| H$m h¡&

2) Explain:

 (i) Mno3 is acidic, whereas Mno is basic.

 (ii)  Vanadium does not form VCl5 and VBr5, whereas VF5 is 

formed.

 ñnîQ> H$s{OE&
 A) Mno3  Aåbr¶ h¡, O~{H$ Mno jmar¶&
 ~) d¡Zo{S>¶‘ VF5 ~ZmVm h¢, O~{H$ VCl5  Am¡a VBr5  Zht&

3) What is paramagnetism? Explain why paramagnetism is found 

in transition element.

 AZwMwå~H$Ëd ³¶m h¢? g‘PmBE {H$ g§H«$‘U VËdmo§ ‘| AZwMwå~H$Ëd H$m JwU 
³¶m| nm¶m OmVm h¢?

4)	 What	is	redox	potential?	How	does	the	reactivity	of	elements	

depend upon their potential?

 aoS>m°³g {d^d ³¶m hmoVm h¢? VËdm| H$s A{^{H«$¶merbVm CZHo$ aoS>m°³g 
{d^d na H¡$go {Z^©a H$aVr h¢?
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5) Explain the optical isomerism for co-ordination number six.

 g‘Ýd¶ g§»¶m N>: Ho$ {bE àH$m{eH$ g‘md¶dVm g‘PmBE&

6) What is meant by lanthanide contraction?

 b¡ÝWoZmBS> g§Hw$MZ go ³¶m VmËn¶© h¢?

7)	 Write	 the	 general	 electronic	 configuration	 of	Actinides.	Give	

main	feature	of	their	electronic	configuration.

 Eop³Q>ZmBS>m| Ho$ gm‘mÝ¶ Bbo³Q´>m°{ZH$ {dÝ¶mg {b{IE VWm ~VmBE {H$ BZHo$ 
Bbo³Q´>m°{ZH$ {dÝ¶mg ‘| ‘w»¶ ~mV ³¶m h¢?

8) Explain Bronsted theory of acids and bases. What are its 

limitations?

 Aåb-jma Ho$ ~«m°ÝñQ>oS> {gÕmÝV H$s ì¶m»¶m H$amo& BgH$s gr‘mE§ ³¶m h¢?

9)	 Compare	liquid	NH3 as solvent with water.

 Ðd NH3  H$s {dbm¶H$ Ho$ én ‘| Ob go VwbZm H$s{OE&

 Section - C 2 × 10 = 20
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your 
answer in maximum upto 500 words. Each question 
carries 10 marks.

(IÊS> - g)
(XrK© CÎmadmbo àíZ)

{ZX}e  : {H$Ýhr Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$ H$m h¡&
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10)	 On	the	basis	of	electronic	configuration	of	first	row	transition	

elements, discuss the variation of ionic and atomic radii and 

ionisation potential within the series.

 àW‘ g§H«$‘U loUr Ho$ VËdm| Ho$ Bbo³Q´>m°{ZH$ {dÝ¶mg Ho$ AmYmana loUr Ho$ 
VËdm| Ho$ na‘mpÊdH$ Ed§ Am¶{ZH$ {ÌÁ¶mAm| VWm Am¶‘Z {d^d ‘| hmoZodmbo 
n[adV©Zm| H$s {ddoMZm H$s{OE&

11) Write short notes on the following.

 {ZåZ na g§{jßV {Q>ßnUr {b{IE
 (i) Oxidation and reduction by water.

 A) ObÛmam Am°³grH$aU Ed§ AnM¶Z
 (ii) Latimer diagram

 ~) b¡Q>r‘a AmaoI

12) Explain :

 g‘PmBE:
 (i)  In comparison to the complex K3 [Fe(CN)6] complex 

K3[FeF6] is more paramagnetic.

 A)  K3[FeF6] g§Hw$b, K3 [Fe(CN)6] g§Hw$b H$s VwbZm ‘| A{YH$ 
AZwMwå~H$s¶ h¡&

 (ii)  Why Nickel does not form inner orbital octahedral 

complex?

 A) {ZH$b AmÝV[aH$ H$jr¶ AîQ>’$bH$s¶ g§H$a ¶m¡{JH$ ³¶m| Zht ~ZmVm h¡?
 (iii)  Metal ions form octahedral complexes easily in comparison 

to tetrahedral complexes.

 g)  YmVw Am¶Z MVwî’$bH$s¶ g§Hw$bmo H$s Anojm AîQ>’$bH$s¶ g§Hw$b 
AmgmZr go ~ZmVo h¢?
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 (iv)  The geometry of six co-ordinated metal complexes is 

octahedral and not hexagonal or trigonal prismatic.

 a)  N>: Cnghg§¶moOr YmVw g§Hw$bm| H$s Á¶m{‘{V AîQ>’$bH$s¶ hmoVr h¢ Z 
{H$ fQ>H$moUr¶ ¶m {àÁ‘r¶?

13) Write short notes on the following:

 {ZåZ na g§{jßV {Q>ßnUr {b{IE:
 (i) Lux-Flood concept of acids and basic.

 A) Aåb d jmam| H$s b³g-âbS> AdYmaUm
 (ii) Reactions of metal ammonia solutions.

 A) YmVw-A‘mo{Z¶m {db¶Z H$s A{^{H«$¶mE§&


